PREMIUM

el Classroom Cruiser - Assembly Guide

If parts are missing or you require assistance, please call:

1-800-267-8494 or email info@copernicused.com CO us
Have your packing slip ready for reference Eihuational Prodiscks .

Premium Model CC3-2008-E
This Assembly Guide provides instructions to build the Premium model of the Classroom Cruiser.
Check out our other products online at www.copernicused.com

This Product is meant to be assembled by an Adult.
WARNING In its unassembled state, small parts present a hazard.
Not intended for use by children.

Tabletop Easel (1)

Top Shelf (1) Wire Shelf (1)

Pocket Chart (2) Side Frame (2)

Big Book Rack (1)

e Open Tub (1)

- Life
Year | Time
Tub

Casters (4)

Frame

@ Small Tub (2)

Please Recycle

Warranty Warranty

Premium Model CC3- Version E - Released 24 October 2008 - Copernicus Educational Products Inc.



Classroom Cruiser - Parts

Before beginning, you should have:

~—— Contents - Box 1 Hardware —

M6 x 40mm Actual Size
Bolt
12x ’//////////////////////////D
Side Frame
2x M6 x 30mm
ox - IANAANNY
10x  \
= Lock M6 Nut
Washer 10x
22x
Middle Frame Allen Key = "=
1x 1x
Contents - Box 2 —
Tabletop Easel
1x
Stretcher
4x Assembly Guide
for Tabletop Easel
1x
TR
/ ! 1 Pocket Chart
a4 i = ’ ! 2x
Caster 1 Small Tub . ,: l
4x = 2x I8
@ 'L***L**fif ——J)JJ
Large Pocket
2x
/\s@;@/. T
Top — %
Shelf ‘fs“@gf\
1x ‘
Small Pocket
Wire Shelf 8x
1x ‘
‘ Divided Tub ..o = =
1x T L g SR
NG — < . BigBook Rack
L s ' ) 1x
. J

\!‘.;’,, S
Premium Model CC3- Version E - Released 24 October 2008 - Copernicus Educational Products Inc. @



- Tips for Assembly - Using this Manual

Watch for These Helpful Symbols

This symbol denotes a 2 Person Task. For safety, please ensure that there are two
people working on steps displaying this symbol

Watch for this symbol throughout the Assembly Instructions. Wherever you see it, pay
close attention. The symbol denotes a step needing extra attention to ensure it is done
correctly

The Star symbol highlights an advisory note

Before You Begin

Layout and identify all of the included parts
The hardware has been packed according to size, separate them based on those sizes
Read the assembly instructions over once to familiarize yourself with them

Please note that in its unassembled state, this product contains parts that can be a
hazard to small children; it should be assembled by an adult.

As You Assemble the Unit

Follow the steps in sequence

Before beginning each step, find the part(s) that you need for that step

Pay attention to the labeling on the parts, they are there to help direct you at certain stages

The title of each step states what you will be doing. Review the text and the pictures as you

build the unit.

After Assembly; Before Use

Remove the plastic film from the Whiteboard before writing on it

Clean the Whiteboard surface well with soapy water and then rinse clean; or clean the board

well with Soy Safe (Copernicus Product #AC405)

We recommend expo brand markers for all our whiteboards. Be sure to replace your
markers when needed.

2 Person

Premium Model CC3- Version E - Released 24 October 2008 - Copernicus Educational Products Inc.




* DO NOT TIGHTEN ANY FASTENERS UNTIL PROMPTED!

1 N @k

“/Stretcher X2 /

Attach Stretchers to Middle Frame

Middle Frame x 1

® Attach Stretchers to the top of the Middle Frame
- Fasten with 2 M6 40mm Bolts & Lock Washers

- Hand tighten only
| Ensure that both short sides of the Stretchers are on the same side i
— Note
XS : stretcher

=] orientation

Middle Frame,
ensure it is
B installed correctly

' Note labeling on

Premium Model CC3- Version E - Released 24 October 2008 - Copernicus Educational Products Inc. @



) = ©)

Ly ) (]
\ il i R
/ - _,-": i i
t b

i

\ /}

\ Side Frame x 2 Pocket Chart x 2 Large Pocket x 2 Small Pocket x 8

Attach Side Frames and Pocket Charts

! Ensure tub channels are facing inwards

® Fasten Side Frame & Pocket Chart to the unit
- Bolts fit through top corner grommets in Pocket Chart
- Fasten with 2 M6 40mm Bolts & Lock Washers
- Hand tighten only

® Repeat for other side

Premium Model CC3- Version E - Released 24 October 2008 - Copernicus Educational Products Inc. %@



g = ©)

You will need: (Not to Scale)
,Aretcher X2

Attach Bottom Stretchers

® Attach Stretchers to unit

- Bolts fit through bottom corner grommets in pocket chart
- Fasten with 6 M6 40mm Bolts & Lock Washers
- Hand tighten only

' Ensure that both short sides of the Stretchers are on the same side

Premium Model CC3- Version E - Released 24 October 2008 - Copernicus Educational Products Inc.



2w = @ F O

You will need; (Not to Scale)

Attach Wire Shelf

® Place the Wire Shelf over the Assembled unit
- Fasten with 2 M6 30mm Bolts, Lock Washers & Nuts
- Hand tighten only

Premium Model CC3- Version E - Released 24 October 2008 - Copernicus Educational Products Inc. @



Sl Q@

-—

\/TopSheh‘m

Attach Top Shelf & Tighten Fasteners

! Determine right side up of the Top Shelf

® Position shelf on assembled unit, it fastens underneath the
curves of the Side Frames
- Fasten with 4 M6 30mm Bolts, Lock washers & nuts
- Hand tighten only

® Tighten all fasteners on the unit (18 in total)
- Ensure that the unit is square, and level
- If not, check your steps, and make sure bolts are tight enough

Premium Model CC3- Version E - Released 24 October 2008 - Copernicus Educational Products Inc. @



Actual Size:

A

6mm Nut
x4 x4 x4
You will need: (Not to Scale)
P 3 I
=8 ;-jj:j‘fg Big Book Rack x 1

Attach Big Book Rack

- Tighten bolts

® Align the wire racking with the holes in the Assembled unit
- Fasten with 4 M6 30mm Bolts, Lock Washers & Nuts

Premium Model CC3- Version E - Released 24 October 2008 - Copernicus Educational Products Inc




You will need: (Not to Scale)

N

@ Caster x 4

Attach Casters

® Push casters into the legs of the unit
- Casters will snap into place and should be secure

Push

Premium Model CC3- Version E - Released 24 October 2008 - Copernicus Educational Products Inc. @



You will need: (Not to Scale)

Pl

\A ~* Assembled Tabletop Easel x 1 Assembly Instructions for TTE100 x 1

Fit Tabletop Easel to Cart
® Assemble the Tabletop Easel according to the instructions found in its box
® Place Easel onto the assembled unit

- The 4 rubber feet on the Easel register into holes in the Top Shelf
- Ensure that the unit is secure

Premium Model CC3- Version E - Released 24 October 2008 - Copernicus Educational Products Inc.



You will need: (Not to Scale)

Small Tub x 2 Divided Tub x 1 Open Tub x 1

Insert Tubs

® Slide Tubs into Frame Channels

Premium Model CC3- Version E - Released 24 October 2008 - Copernicus Educational Products Inc. @



10

*

Validate Your Warranty On-Line

) I} {)
Year | Time

Frame Tub

Warranty Warranty

To validate your ten year frame warranty & lifetime tub warranty, submit the ON-LINE form at
www.copernicused.com

Username: quality
Password: safety#l

Use Soy Safe to help keep your Whiteboard

Surface looking new!
Copernicus Product #AC 405

“The beautiful thing about learning is that no one can take it away from you.” - B. B. King

Premium Model CC3- Version E - Released 24 October 2008 - Copernicus Educational Products Inc. @



